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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOEN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REEFLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OME Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

Y¥ou have to enter vour RHoll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items {guestions). Each item is printed both in Hindi and English.

Bach itern compriges four responzes (answers). You will select the response which you want to mark

on the Answer Sheet. In case you feel that there is more than one correct response, mark the

response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

Al items earry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate.

After you have completed filling in &1l your responses on the Answer Sheet and the examination has

concluded, vou should hand over to the Invigilator enly the Answer Sheet. You are permitted to

take away with vou the Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOE WRONG ANSWERS MARKED BY A CANDIDATE TN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question, For each question for which a wrong answer
has ]:;Etym given by the candidate, one-third of l]{ﬁ marks assigned to that question will be deducted as
penzalty.

{iit  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and thers will be same penalty as abowve to that question.

(iit} If a question is left blank, ie., no answer is given by the candidate, there will be no penalty for that
uesEtom,
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What is the wvalue of o (o = 0) for which
x® — 5x + a and % — 7x + 20 have 8 common
factor 7

{a) 6
by 4
(e} 3
dy 2

2. How many numbers from 1 to 1000 are
divisible by 2, 3, 4 and 5 7
(a) 16
(h) 17
el 32
(d}  None of the above

3. What are the factors of x” + 4x® ~ 11x - 30 ?
(a) (x-2),(x+3)and (x+5)

(k) (x+2){x+3)and(x-B5)
e} (x+2hL{x—-3)and (x+5)
(d) (x+2),{x-3)and (x-5)

4. Ifx =111...1 (20 digits), y = 333...3
(10 digits) and z = 222 ... 2 {10 digits), then
- aqual to 7
@

(b} 1

e} 2

(dr 3
STS-M-TPT

[2-A)

What is the positive value of m for which the
roots of the equation 12x% 4+ mx + 5 = 0 are in
the ratio 3 : 27

(a) 5410
510

b
(bl T

(e} —

dy —

Let fix) and gix) be two polynomials (with real
coefficients) having degrees 3 and 4
respectively. What is the degree of fixigix) ?

(a) 12

by 7
fcy 4
dy 3

If 5x% + 5x° — 6x + 9 is divided by (x + 3),

then the remainder is

(a) 135
(by —135
(¢} 63
(d) -63

The produect of two non-zero expressions is
(x + ¥ + z) p°. If their HCF is p?, then their
LOCM is

{a) (x+y+a

(b) (x+y+z)p

el (x+y+z) p"’

dd (x+y+2)p




1. «lax0) ® 98 #79 #n 2, fows fou
%2 — B + o 3T xf - Tx & 20 T UF WA OGS
AT ' 7
(a) &
by 4
ey 3
2

2, 1#® 1000 7% Feadft geard 2, 8, 4 3 5 9
ferars & ¢
{a) 18
® 17
(e} @2
) e 8 A W

3, x®+d4x®-11x-30 FPEES IR 7
ta)  (x—2)(x+ 3 AMix+ 5
(b))  (x+2), (x +8) 3 ix -5
() (x+2),(x—33M(x+5)

(d (x+2), (x—8) 3 (x—5)

4, 3E x=111...1(20%F),
¥=333...3 (1035%) 3tk
z = 299, ..2 (10 %) B, @ x-y* Fero
R T
(a) %
b1
) 2
) 3

STS-M-TPT

6.

7.

(3-A)

m T 98 OwHE U w4 8, Taus o afiem
125 + mx + 5=0F YA 3: 2% AT °d & 7

(&) aﬂ“ﬁ

@y 2
12
5
(c) ﬁ
12
,d P
() p

A i fix) s gx) § FEE (Gt
iRl & wra) 8, ey e s aafit a4 ®

focnelx) i Teuft w8 9
(a) 12

b) 7

e} 4

(d) a

T2 5x® 4 5x% - 6x + 9 F (x + Y
fopam =i 2, A1 fowe TR 7

{a) 135
b} =135
{(c) 63
d) -63

1 I S W OOAwE x4y + 2 pi R
aqfe I WETH HANEAE (HOF), po &, o7 39
FHAH HHMEE (LCM) &1 2 7

a) (x+y+a

{b) [;h:-|-§'-b-z]pa2
ic) {x+}r+ﬂp5
{d) (x+y+zlp




9. If the points P and @ represent the real
numbers 0-83 and 0-62 on the number line,
then the distance between P and ) is

21
|:F-|-l:| ﬁ
19
b B il
(b 50
21
lc) 100
a6
d iy
(d) =

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12-5% and 5%.
The actual deduction will be
fal 335%
thl  30D%

(el 32%
(d} 25%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with % mangoes.
How many mangoes did he have originally ?
(a) 500
(b 450
{c} 400
(dy 350

STE-M-TPT

12,

13.

14.

15.

(4-A)

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones
completely if its speed is 60 km/hr 7

(a}] 1hr 30 min

(bl 1 he30 min 12 sec
ey 1hr51 min
{dl  1hr1lmin3sec

In a 100 m race, A rans at 6 km/hr. If A gives
B a start of 8 m and still beats him by
9 seconds, what is the speed of B 7

{a) 46 km/hr
(b} 48 km/hr
(e} 52 km'hr
id} 54 kmhr

The quotient of 8x" — y* when divided by
Ixy + 4% + v¢ is

la)l Z2x+y
(b x+2y
e) 2x-y
d) dx-y

If (x + 2) is a common factor of x* + ax + b and

x% + bx + a, then the ratio a : b is equal to

{a} 1
(b} 2
{e} 3
(dr 4




10.

11.

ST&-M-TPT

" a)

afs fimg p o Q Te Tan W oanafas e | 12
0.83 3 062 %t FElm =@ &, 9 P 3R Q
& o gh R 2
21
a0
19
® o5
21
ic) 1—['"—}
56
id) o6
13.
#9 wErE E=atadl 200, 12-5% 3N 5% 3wy,
Hfit 3 v F @lE | T T awtas S
w41 whft ?
{a) 335%
(b) 30%
e 32%
{d} 35% 1%
T HE fasedal & 9@ U BT g@en 8 s
%, P | 5% @S ¥R | 98 9 W % 75%
W T R oiR I UW o5 W AT A4 B |
AMY § Zoe orF fead s # ¢ 4%
(a) 500
(b} 450
ey 400
(d)  3s0
(5-A)

e i fafge o | W1 ke o 2, =
TR w4 § gfg wh @9 12 #es ol R, a9 T
T geed 7 FiE 9 91 km foen B, oft e On
w4 0 79 o wHa @i, afe 4 & nfa

60 km [HET B 7

1 521 30 iz

1521 30T 12 9%
1 521 51 sz

1921 1 o 3 aE

{a)
{b)
tel
{d)

100 m & UH @2 A A, 6 km /T2 B A &
aft A, BHI & m o & ded ) famag g 2
st i ft B od%E § g0 2 B, At B
o T R 7

{a) 46 km/H2l

(b) 48 km/H21
(e} 52 km/Ea
(d) 54 km/=2

Bx® — ¥ W Zxy « ax? 4 2 @ TOwifam =9 W
YITRe #47 B 7

(a) 2Zx+y
ib) =x+2y
(e} 2X=¥
(dl  dx-—w

?Jlﬁ[1+2!|, x? 4 ax+b 3N &%+ bx + a T UH
HE MUEE ®, A S o b EEE wm d 2
tal 1

(b} 2
(e} 3

(d) 4




16. Let 19. Thefactorsof x(x+2)(x+3) (x+5)— T2 are
2

flx) = ayx™ + alx“'l BT A e Ay E AR, (a) x,(x+3),(x+4)and(x-86)
where ag, 8,, 4, ..., a_ are real numbers. by (x—=1)(x+6 and (xf —2x— 12
If fix) is divided by {ax-D) then the () (x—1), (x+6) and (x? + 5x + 12)
remainder is
: {d) (x+1),(x—6)and (x* - 5x — 12)

b
{a) f —]

v 20. If the HCF of polynomials

{h} f hJ ﬂI}=EE-l:II:JLE+31+a}aIIﬂ

8 i) = (x + 2) (x? + 2x = b) is (x% + x - 2),
(e} rHEJ then what are the wvalues of a and b
b respectively ?
@ f —E] W, A
ke (h) 2.-8
17. Consider the following numbers : d) -2,-1
1. 2222 21. a, b, ¢, d are non-zero integers such that (ab)
2 11664 divides (cd). If a and ¢ are coprime, then which
a, 343343 one of the following is correct 7
4 220347 {a) aisafactorofe
Which of the above are not perfect squares ? ib) aisafactor of b
(a) 1,2and3 ie) aisafactor ofd
(b)) 1,Zand4 id} disafactorofa
(e} 2,3and4
22, [f the roots of the equation
(dd 1,3and4 a
alb-clx*+blec-a)lx+ecla-b =0 are
equal, then which one of the following is
18. The product of the polynomials (x + 2), (x = 2), correct ?
(x® - 2x® + dx — 8) and (x* + 2x® + dx + B) in G)  Shes
8_
{a}) x°-256 &  bE=ac
(b) (x*-18)%
4 i 2 At
(@) (x*+ 168 b a e
(d) x2—4p {d) l=l+l
b a e

STS-M-TPT  (B-A)




16.

17.

18.

T efifan
ﬂH}EEﬂKn+Eixn'I+ﬂzﬂn_ﬂ+...+ﬂﬁ_1'.'{+ﬂﬂ
B, WE ay, a,, a, ..., a, TEas wEd §

fe fix) 1 (ax - b) ¥ fwfem e s, @
IR F491 B 7

o )
® f-2]

@

8

B
iel ',I-J-)

(d) f(- %\|

k8 s

Frafiafigs Tema w FEn fif
1 2222

2 11664

3. 343343

4, 220347

I W ° w7 R
1,23 3

(b) 1,23 4

() 2,33N4

(d) 1,33 4

{al

FEIE (x + 2), (x — 2), (x? - 2x% + dx - §) 3R
(x? + 2x% + 4x + 8) T AT 1§ 7

(a) x%—256
(b) (x*-16)
() (x*+ 160
() (x*-41
STS-M-TPT

19.

20,

21.

(7T-A)

xix+ 2 (x+3)ix+5-72% AEE #

fa) % (x+3),(x+4)IAN(x-6)

(b  (x=1), (x +B) 3 (x* - 2x - 12)
e} [(x—=1)(x+6) ﬁl{{uﬂ+ ox + 12}
() x4+ 1), ix - 6) 3 (x® - 5x - 12)

I EEEE i =(x-1G2+3x+a) FHE
glx) = (x + 2) (x% & 2x + b) T HETH THMEGH
(HCOF), (x% + x — 2) %, @1 a 3T b 99 HHM:
w2 7

(a) 2,2

(b 2, -3
fe) -1,-3
(d)y -2,-1

a,h,c,dsﬂﬁﬂﬁil‘@ﬁ'{%iﬁ[ab].
(ed) W1 fanfom s 8 | 3 a 3R sraEwrE
fafeffmdashmad e

(a) a, :EI-TTT'H'EE?
(b} a, b PHEE §
a.dﬁl'ﬁ'ﬂmg
d, a 1 TGS B

(el
{d)

Ifz weEm

aLh—c}xE+hf:—a]x+cfa—hJ={]%FLH
T E, At Frefafar f o sem a2 0

{a) Zh=a+c

by bf=ac

(c)

1 1
:.'i] E—E-I-—




23. The non-zero solution of the equation
a—x2 _h=-x _ e b—x® ERE
b [ b x|
b=0,c20 is
2
et
b* +¢
b? — ac
® owa
h? -
{e) 5 a:
b® +e¢
b? +ac
id) =P
24. Ifkis an integer, then
x* + Tx - 14[&2 - g] = has
(a) Both integral roots
{by At least one integral root
{c] Nointegral root
{d) Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
tal 26
th) 37
(e} 38
d) 39
26. To maintain 8 cows for 80 days, a milkman
has tn spend T 6,400, To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
vialue of n 7
{a) 46 days
(b) 50 davys
(c) 58 davs
(d) 72 days
STS-M-TPT (8=

27.

29.

30.

A

A student has to secure 40% of marks to pass
an examination. He pets only 46 marks and
fails by 5 marks. The maximum marks are

(al 120
(b) 125
(e} 130
(d) 160

What is the wvalue of u in the system of
equations 3 (2u+vl=Tav, 3(u+ 3v) = 11uv ?

fal 0O
1
ih) —
4
1
|:I::| E
d)y 1

Five years ago, Ram was three times as old as
Shyam. Four yearz from now, REam will be
only twice as old as Shyam, What iz the
present age of Ram 7

ta) 30 vears
ih) 32 years
(e} 36 years
d)} 40 years

Ram buys 4 chairs and 8 stools for # 1,340, If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188. How
much money did he have to pay for the
chairs 7

(a)l ¥ 200
(h} ¥ 400
el F 800
@)} T 1,800




23, g X _ b-x

25.

STE-M-TPT

c—x b—x*
X

¥

bx e b
FE b#0, c+ 08, F AN ET FOE 7

b* + ac
£ G =L
b? +¢?
b? —ac

R

b?® - ac

(el
b? +e?

b2 + ac

R )

afe kT oI 8,
x*+?x—14[k2—%] =0 /%

(a) ﬁﬁ‘ETTﬁﬁﬁ

(b) 930 0% gE Ui 2
(@) i ot get qurfes T &
(d) S S O g

500 #1000 % W9 fEEl H@=Ed, 13 ®
A= 8 7

(a) 36

(h) a7

fe) 38

(d}) 39

U FUATE W 8 M = AL 60 T 9%
A & o F 6400 WY T4 US40 £ | 5 T
F WOAET o 5 TR wH o+ fEw, 3
T 4,800 @ FATSAE | aFI AN TR 7
(a) 46 f=

(b) 50 &

(¢) 58 =

() T2fEm

27.

Z8.

29,

a0.

(8-A)

o o w T often & om0 % e 09
3 WA WA B | 39 e 46 39 W B 7
s F8 5 afRl | el B A 2 | T W
sAfereRan 3T 7 B 7

{a) 120

() 125

(e} 130

(d 150

Tt e

(20 +v)=Tuv, 8(u+ 3v) = 1luv &, u @
HH R 7

{a) O
1
(b s
1
{f} E
d 1

uig =f wgd, w1 o, Em A Ay F
R off | | O 9w 9§ \E, oA, =
#1 31y 1 haE gt @i | R adee
TR

(a) 30TH
(thy az=d
(¢) a6=d
(d 403

U9 * 1,340 § 4 giHE 3 o wm w@iem B
ofz @8 i w1 10% @™ W SR wgE w
20% Y T 990 &, 91 3 T 188 T FeA A
B B | FiEE + for @ e e o o
#i 7

(a)
(b}
(c)
(d)

T 200
= 400
T 800
T 1,600



81. Which one of the following 12 a correct
statement ?
{fa) X:x+8=8l=¢
(bl {x:x+5=5=10]
() x:x+b6=08)=0
{(d) fx:x+5=5]=lel
32. If ab 4 be 4 ca =0, then what is the value of
a? h*® e
7 + — t— 2
a*—be b* -m c¢°-ab
(a) 3
(bl O
{c) 1
dy -1
33. In an examination, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the
subjects ?
(&) 0
(b) 20
ey 30
(d) 40
4. What is (x-¥iy-2z)(z —x) i)
x-v2 4y -2 4 (z—xp®
1
(&) - E
1
b A
:I 3
cy 3
) -3
TS-M-TFT

36.

a7.

(10-A)

The value of Nl'1+ i+ 1+

{a) Equalstol

(b} Lies between 0 and 1
(e}  Lies between 1 and 2
(d) Is greater than 2

If log,, 6 =0-7782 and log,, & = 0-9031, then
what iz the value of log,, 8000 + log,, 600 ?

(a) 46813
{b} 55813
(e} 1-5813
(dy 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

{a) 24
b}y 18
e} 12
idl 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(h) 160 days
(c) 100 days
(d) &50days

A tap can fill a tub in 10 hours. After opening
the tap for 5 hours it was found that a small
outlet at the bottom of the tub was open and

wator was loalkbime Lhesisah
FrobiCl oo abdnlill  WEATUOUER

immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water 7

i T+ warmn dleaes
e L WS  LLIELL

(a) 356 hours
(b) 25 hours
{e) 20 hours
dy 17 houars



31, Feffimdssnam ol st
(a) [x:x+5=Bl=d¢
(b)) [x:x+5=058={0)
(e)] [x:x+85=58}=
(d} [x:x+8&=8}=[dl
32, #f2 ah+bc+tﬂ20%.?h
2 2 2
3 - b o—— W AT
af-be bP-e c?-ab
&
{a} 3
(b} O
e} 1
d) -1
33. UH uwhEn § 5% 2w H § Bm o9 m, 45%
ar it o %e 8 o el oo o EET fawEl
4 e & o | 2 Rl @ o 1 9E el
whi SferaraaT w4 # 2
fad 0
(h) 20
(e} 30
d) 40
34, x—y)ly-zz—% ook amids
{1—3}3+(y—zjla-r{z—:-r.13
1
La) =
¥
|:, ke
(b} 3
e} 3
dr -3
STS-M-TPT

da.

46,

a47.

38,

a9,

(11—A)

'Hlll"' T
{a) 1% s R
by D3 1HFE TR
{cl lafﬂiﬂaliiﬁ?-lﬁ%
dy 2H=E=T R

4f2 log,, 6 = 07782 N log 8 = 09031 B,
a1 log, , 8000 + log, | 600 =1 7 41 & ?

fa) 4-6813

{b} 5-5813

{c} 1-5813

(d) 66813

30 =% T FE T 40 B9 0 90 = A F
qﬁﬂﬁ?ﬁaiilﬁﬂﬂﬁﬂﬁ?ﬁﬁﬁﬂﬁ!?{ﬁ
T wi BT G | =Rt &= g @l 3 30 F
g wA o e 40 fm s T | el ane
¥ ard =il f den e B 7
{a) 24

(b} 18

e} 12

dy 6

4 g s 6 HE, U B W
owdl § | 2 g=fEl 3 g 69

feat § = widt o

{a) Eﬂﬂﬁﬁl

by 150 &

(e} 100 fE=

) sofe

uF Fo Rl Ta w1 10 92§ W o%ar B | e
GIe % 5 H¢ @15 98 9 T T 2w ol aell |
v Biel FeRE gen ga o7 3 IEH f qE
fim 1@ 97 | o9 39 Aol w@e o B o |

Frem &g o0 & =1g o8 & WA A 7 e |
ot @ ot g e W P F mem 8w

&Rl HI4

50 fa= # =

w1 ¥ e owg =m 2
(a) 85
by 25 =
ic) 20 W
(d) 17 =2



440.

41.

A boy went to his school at a speed of
12 kmvhr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance
walked 7

{a} 4 km
{(b) 8km
(e) 16 km
{d) 20 km

If 78 is divided into 3 parts which are
proportional to 1, é, %.thﬂnthamiddlepm-l:
5
28
( ol
al 3
(b) 13
52
{ bl
c) 3
1
d ks
{d} 5
There are 350 boys in the first three

standards. The ratio of the number of bovs in
first and second standards is 2 : 3, while that
of boys in second and third standards is 4 : 5.
What is the total number of boys in first and
third standards 7

(n) 802
(b) 280
(el 240
(d} 230
STS-M-TPT

(12-A)

The difference between the compound interest
(compounded annually) and simple interest on
a sum of money deposited for 2 years at
6% per annum is ¥ 15. What iz the sum of
money deposited 7

{a) T 6,000
(b} ¥ 4,800
{c} ¥ 3,600
(d)y ¥ 2400

When prices rise by 12%, if the expenditure is
to be the same, what iz the percentage of
eonsumption to be reduced ?

(a) 15% T
(b) m% %
) lE%%
) 11:1%%

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours,
Consider the following statements :

1.  The speed of the man against the stream
is 1'8 km/hr.

2. The speed of the man in still water is
415 kmvhr.

3.  The speed of the stream is 135 km/hr,
Which of the above statements are correct ?
{a) land2only

(b) 2and3 only

() land 3 only

(d} 1,2and3



40, TF TEH 12 kmMHe # G § S AW

41,

e T A0 8 ko= R T # A9 9 I9E
A | 4R @ w3 50 foee T, A
a T fohad] gl =en ?

{al 4km
ib} Bkm
fe) 16 km
id}y 20 km

a2 78 =1 3 Tl 4wl fe 9 S

1,%,%%wﬂmﬁﬁﬁ,ﬁrﬁrﬂmﬁm
g 7

(a) EE
a
ik} 13

52

b e
i) 5

ad

(d) —_
a

42, Vel A HENH A Fu 350 Th B | UEcAr 30
THfl w1 TSR H e 9 2 3 W
st R, wafs el oft el wen § e
i T 1 A 405 ] | Eel W A
FENSAT o TSI o T WEAT Tl & 7
(a) 302
(b) 280
(c) 242
d) 230

STS-M-TPT

43.

44,

45.

(13-A)

o aul & fom s it il g W = T T
HAIE T wEgly = (Fifie we O Hartad)
ST BTYEN BTH W A T 15 % | 9 Rl TE
ufs &= 8 2

ta) ¥ 6,000
(bl ¥ 4,800
e} ¥ 3,600
(d) 2,400

w§ gl 0129 @ afg @ 9w, v 9fy we
aE "9 TEAl 2, df E@d § Torad wiowm wd

Erciliuil

(a) 15%%
() 10%%
(e) 15%%
(d) mg%

T SATeR TR TN H 9T g 4 921 H 18 km

I @A B 3w 10 =9 # amm sm # |

Frferfiaa we=t W fa=m Fife

1. gy % FEele =fE ft 99 18 km W
praf &

2, @& gu ot saf ) = 315 km wfd
g R |

3. Wy =Rt 9 135 km WR g2 R

I 0§ Y YA e E v

(a}) Ee 1302

(b et 2311 3

(¢) has 13 3

(dy 1,233




46. Ifatriangle has sides 5, 18 and 12 units and 6
is the acute angle of the triangle, then what is
the value of (sin B + cos 8) 7
5
F ﬁ
T
b L
(k) 13
12
ic} E
17
(d bt
. 13
47. If 0=x< %, then {sin x + cosec X} is
a) »>2
b} <2
£y =2
dy =2
m? —n? %
48. If sin B = 5 — & and 0 <8 < —, then
m® +n 2
what is the value of cos B 7
2mn
(a)
m? +n?
2mn
b) ——
m® - n?
m? + n®
() e
] i
m- —n
d T
s 2mn
STS-M-TPT

49,

5l.

(14-A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle iz 10 cm, then

what is the length of side BC 7
(al Hem

(b) 10em

(e}  6+/3em

(d} 1043 em

sin 45° — gin 30F
cos 45° + cos 6O

sec 45° — l;aﬂ 45
cosec 457 + cot 45°
following is correct ?

(a}
(b

If A=

and

B=

, then which one of the

A=BH

A=B=0
el
(d}

AcB

B=A=0

If & measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of

the following is correct 7

n 41
W el
2= Om
(b — <l —
} 5 5
L.
) =shs=
@) Eegelt
14 15



46. afz o fym F Al 5, 13 3R 12 59 ¥ |49,

a Fgw =1 =i 2, T (sin 6 + cos 6) F WE

8 7

B
(a) 'l'"é'

{b)

k|-

(c) s

(1 =

47, Ilﬁ Dex< %%,?ﬁ (8in x + cosec x) &

(a) =2
(b)Y =<2
fcd =2
d)y =2
48. i sind =
m + I'.I.
wHFE R T
Zmn
(a)
m? +n*
2mn
(b
m? - n?
m? +n*
(e) 2mn
2 z
m —I
d
) 2mn
ETS-M-TPFT

50,

n a-ﬁ!ﬂcﬂ:iﬁ Al cos 0|51

(15-A)

Hﬁﬁﬁﬂﬁﬂﬂﬁﬂﬁ,w%aﬁﬁﬂmiﬁ
ftgw #i f=n 10 om B, @ g BC Hr T
w7

(a} Bcm

(b} 10 em

el B -.'rE: cm
(d) 1043 em

gin 45" — s1in 307
afz A = = £
s 45 + cos BOF

B = socdbh® — tan 457 %’ bt @ 6

coses 467 + cot 457

kiR

(a) A=H
b} A=B=0
) A<B

di Bec<A<0

Tf2 o, Forme A9 ifemm o 8, et o8t % 9¢
% gE i e 1 g & i ow s & v
HEY 4 ; 36 AE &, A FeafatEs ¥ 9 fea
wErE e

a) 3?“ ﬂqiﬁf
) Z<peit
(c) ESH{%
() %gug%



52. Consider the following statements :
1. If 45° < 8 < 60", then
soct 0 4 cosect B = of for some real
number o = 1.
. Hﬂ“{ﬂ{ﬁ“.mmw= * for
1-cos 0
some real number x > 2.
3. If 0° <8 < 45", then
cos 8 P gin H 5
1=tand 1= cot @
What is the number of true statements 7
(a) Zaro
(b} One
e} Twao
d) Three
53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let
A'B’ represent a tower of height (h + x) metre
(x = 0) with A" being itg top and B" being its
bottom. Let BB = d metre. Let the angle of
elevation of A" as seen from A he 457,
Consider the following statements
Statement [+ h+x>d
Statement [I: The angle of depression of B as
geen from A is less than 457,
Which one of the following is correct in respect
of the above statements 7
() Both Statement [ and Statement I1 are
true and Statement II is the correct
explanation of Statement 1
(b} Both Statement [ and Statement Il are
true but Statement 11 15 not the correct
explanation of Statement 1
(e} Statement I is true but Statement 1T is
false
(d) Statement I is false but Statement IT is
true
STS-M-TPT

64.

Sd.

{16—A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be No® E on the opposite parallel
bank. He then walks 200 m along the bank to
the point ¥ towards East, and finds the tower
to be NB*W. From these observations, the
breadth of the river will be

{Given that tan «" = 2 and tan p° = B:5)

(a} 60m

(b} T0m

(e] 8B0m

(dr 90m

The wvalue of g where 1% represents
sin 1%

1 radian is

(a) Egualtal

(b) Lessthan 1

(¢} Greater than 1 but less than 2

(d) Greater than 2

The diameters of two given circles are in the
ratio 12 : § and the sum of their areas is equal
to the area of a circle of diameter 65 cm. What
are their radii 7

ta} 12 cm and b cm
(bl 24 emand 10 em
(e) 60 cm and 26 em

id) 30 cem and 125 em




52,

Fre=rfefan wae w faaw ifae .

1. 32 45° <0 <60° B, 9
5m2ﬂ+m5ﬂcﬂﬂ'=u2wﬂ'rﬁlﬁiﬁm
o> l%mi|

2. TR rcocdped, @ 1150 _ 12 g
1-cos 8
A A x> 2% e 2 )
3. IR0 <0<4s*®, T
cos B sin 8
l-tanf l—mtf:lzﬂtl
it et i e T B2
(a} T
(b) UH
¢y =
(dy =
53. AF ifaw AB, h W = i TH wEa w
Frefim war & 98 A Faw 3id =i B 3@
gm & 1 WA wfifam A, (hex) HiE
(e x> 0) Frd #1 v e w1 Frefim wo
& ol A Fwe s sl B IR aW R | AW
#fifen BB = d fier & | w9 oifom A § Em
A’ ERT FHEA RIOT 46° 8 |
frafafis el w fem it
FaEd]  h+x=4d
e J1 . AH W1 T B SEARA W0 46° W
w98 |
Il woAl & ded # foafafaa 4 4 ®wan
LA
(a) HEH 1 s Hy 10 g wd § oin
FuA 11, F4 1 61 58 sane 8
(b} wHEA [ #HW WA 11 EAT wd #, ung
e 11, e 16 =) smen T 2
(c) T DHH ¥, 9 Hu 1T R
(d) YA 1TEE ¥, W e I 2
STS-M-TPT

o4.

(17 -A)

ww 5, a8 or ff e oW W, Xy
et w, X fag W == g =fE owme
AT AUARE BT W U AN # NoE %
wgEn 2= & | T 9 =afw fen % oy
fem &1 oin v fg 9% 200 m we B, s
i i N pe W o e & g 2 1 39 Sewii
& 37, 7w grs #=0 A 2

(T 7 & T tana® = 2 3 tan e =05 8)

{a) 6GOm

by T0m
() B0 m

idy 20m

gin 1%

w1 OE T B, W8 15 1 ifEE &
gin 1%

frefm s & ¢
(a) 1% ST
1% &9
18 siftrs, e 29 =

2 # Wb

(b
{c)
(d)

fiw o 2 g % w12 5% apow # # o
ITR HASE! B AMTEH, 66 em 9 ST U
97 % @EFe & et B | 39 Prand @ # ¢
(a) 12em 3 5 em
(b} 24 em 3 10 em
{e} 60 em 37 25 em

(d) 30 em 3 126 em



87. A hollow cube is formed by joining six
identical squares. A rectangular cello tape of
length 4 em and breadth 0-5 em is used [or
juining each pair of edges. What iz the total
area of cello tape used ?
fa) 12 square cm
(b) 24 square cm
led 36 square cm
{d) 4B sguare em

68. Two straight lines AB and AC include an
angle. A circle 15 drawn in this angle which
touches both these lines. One more cirele i3
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
girele i2 D times the area of the smaller circle,
then what must be the angle A 7
(a) 45°
(hl 607
ey TS°
(d}y 90°

68. An isosceles triangle is drawn outside on one
of the sides of a square as ba=se in such a way
that the perimeter of the complete fipure is
% times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square 7
(a) 1:1
(b} 2:3
el 1:2
d) 1:3

60. What iz the area of the triangle whose sides
are 51 cm, 37 em and 20 em ?

(a) 300 square cm

(h} 305 square cm

el 306 square cm

d)] 307 square cm
STS-M-TPT

61.

(1B-A)

Segment QR of length r is a tangent at @ to a
gircle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region 7

{a) T_E

(bl r—:—‘“'?g
Led E; 24 T—;
(d) 3:; - Ej;

In a triangle ABC, AD is perpendicular on BC.
If £ BAC = 90%, AB =¢, BC = a, CA = b and
A} = p, then which one of the following is

eorrect 7

(a) p=abc

(h) p“=he

) p= L
a

d) p= L

c

AB and CD are parallel chords of a circle 3 em
apart. If AB = 4 em, CD = 10 em, then what is

the radius of the circle ?
{a) Tem

(b}  19em

(€0 289em

(d) 14em




G1.

62,

r WEE W T (EEE QR, T or s

Fgfag P AW UH g9 & fug Q W e @ |
Bqw PQR % 3@ o w1 dFwe == B, &
I &7 W R 7

() —
b) ——-—

(€) ==

0 —-=

v fas ABC ¥, AD, BC W ww ¥ | IfE
£ BAC = 90°, AB =¢, BC = a, CA =b 3K
AD=p® S PoRfEE i Smadi 2 2

(a)

(b}

fel

()

p = abc

p* = he

AB 3R cD, % 9 i wue SfEn § @ 8 em
higime 19 AB=4cm, CD=10em &, &
g Wi e g v

(a] Tem

57. T: WAHW S W FgwR TH GG g
mn 2 | ARt % wess 9w # a e & fom
4 em TS 3 0-5 cm WIS dTed Uk SEATRR
el 99 W1 990 R o & w=E | o
HEA| 29 T T A e 8 7
(a) 12F em
(b 24T em
(e} 363 cm
(d) 4891 em

58. o Hiel @ AR 3N AC TS wim Ff £ | ™
HI0 H UE F9 G A R W W g
W WY AR | TF q9 AN S o
3 EF1 (AN % WY-EE, 9Ee 976 g9 & 6
oy w1 ® | 3 92 9 9u # fEwa, B
A1 g9 % HF%E H 9 B, 4 W A F HA
ol
(a) 45°
(b} 6O°
(e} 75
(d} 90°

59. Trdl =i & gl 4 @ Rl o w0 wmR
T, T % WIEC U AUigEE GYS §W WER
= @ & 5 ol sl w ofmre i
aﬂ%trﬂ:mwr%ﬂ?l%lﬁaﬁr%%ﬂﬁm,
wifiys @l W BEwE § SO R
(a] 1:1
(th) 2:8
fey 1:2
f(d} 1:3

60. =8 B & gEwe fean R, el wand
51cm, 37 cm 3T 20em & 7
(a)  300FT em
(b) 3059 em
(e} Bﬂﬁaﬁm
(d) 3079 cm

STS-M-TPT

(18-A)

() J19em
(e) 29 em
(d) 1d4em




64, The diagonals of a cyclic quadrilateral ABCD

66.

intersect at P’ and the area of the triangle APE
is 24 square em. If AB = 8 em and CD = 5 cm,
then what is the area of the triangle CPD 7

fal 24 square em

ib}) 15 square cm

te)  12:5 square cm

(d)

8-375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC, What is BD® equal to ?

(a) AD?

(b) 2AD?
() 3AD2
(d) 4AD?

The distance between the centres of two
circles having radii ® cm and 4 em iz 13 em.

What is the length of the direct common

tangent of these circles 7
(a} 12em
(b} 1lecm
(e} 10cm
{d} 95em
STS-M-TPT

87.

(20-A)

IfFL, QM and RN are the altitudes of triangle
PQR whose orthocentre is O, then @ is the
orthocentre of the triangle

(al OPQ
bl  OQR
(c) - PLR
(di OPR

In triangle ABC, £ C = 90° and CD is the
perpendicular from C to AB,

If (CDY 2 = (BCY? + (CAY 2, then which one of

the following is correct ?
{a) BC.CD=AB.CA

(b} AB.BC=CD.CA

(&) CAZ2CB%=2(AD?+ CD%H

(d) AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,
C and D, then OB? + OD? will be equal to

(a) 20024+ 02
b}  0C2-0Aa?
(e} OC2:0A%

d)  OC2+s20al



STS-M-TPT

64, TH =g wgdd ABCD % fawdl P W wiie=sg

% § o frqge APBF1 8% 24 9 em ¥ |
A& AB = 8 cm R CD = 5 em &, 71 f"{@ CPD
1 B TR 7

(a) 243 cm

(h) 1597 em

¢y 12591 em

(d} 93755 em

o moaE fiys ABC #, BD, AC W w=eq
it et % 1| BD® T wE R 7

{a) AD*®

(b) ZAD®

{c) 3AD?

(d)  4AD®

Qcmﬁdmﬁﬁwﬁaﬁaﬂﬁﬁ?ﬁ
%ﬁﬁﬁ@lﬂcmﬁ Iﬂﬁ?ﬁﬁm

AT T R ey R Y

(a) 12cm

(b} 1lcm

e 10em

{(d} 9-5cm

(21-A)

7.

68,

afe PL, M 3R RN, 36 Biys PQR % e
ifmmda sz 08, 9 @ &y B w e
LA

(al OPQ
(b} OQR
c) PLR
(d) OPR

fys ABCH, £ C=90"3N CD, C 8 AB W
#w %A cDr? = BO? + (cAP R, @
frefafar d @ s aft & ¢

{a) BC.CD=AB.CA

(b)) AB.BC=CD.CA

fe)  CA?+CB®=2(AD?+CDY

(d) AB.CD=BC.CA

af ws e ABCD % fiRdt o R o =i
v fagat A, B, © 3R D # g W R, A
OB + op? féFms = B 2

(a) 2002+ 042

thy 0OC?* - 0A?
(el 00?4+ 0A?

(dy OC?*+ 2042



70.

T2,

A eylinder of height 2x is circumseribed by a
sphere of radius 2x such that the circular ends
of the eylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
aphere 7

(a) +3:4
) 3:8
() +B:2
@) J3:1

A cylindrical vessel 680 cm in diameter is
partially filled with water. A sphere 30 cm in
diameter is gently dropped into the vessel and
is completely immersed, To what further
height will the water in the cylinder rize ?

(a) 20em
(b} 15em
() 10cm
(dl GSem

The vertical angle of a right circular cone is %
and the slant height is 42 r cm. What is the

volume of the cone in cubic cm ?

fa) mr®
(b)  9mr®
d
ar
I:E} ?
d) Imr?
STS-M-TPT

73,

4.

75,

(22-A)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that
of the whole cone ?

{a) 1:8
b}y 1:4
el 3:4
d) 7:8

From a solid cylinder whose height iz & em
and of base radius 6 cm, a conical cavity of
height 8 em and of base radius 6 cm is formed
by hollowing out. What is the inner surface
area of the cavity 7

(a)  Bmsguare cm
(b)  8msquare em
{e} 1= equare em

id} 60rsquare cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right ¢ircular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the eylinder is 10 m and the total height of the
tent is 156 m, then what is the eapacity of the

tent in cubie metreg 7

(a) STH00T
87500
(k) 3
26500
{c)
3
id} 25000




70, 9x SETE 9N UF @9, Ox HE O U M
@ 3@ wHR wirm ¥ T w@em & g9 8n, e
T E T Y9 R | 4T & 95 T=E SAEE w5
e & g dEEe o g9 w98 7
(a) +/8:4
(b)Y +3:3
(c) f3:2
) J3:1

7l. 60 cm SATE HIET UH AR F6A A Y
O H W B R | 30 om TH HE U T
i A o a2 s s afiae g
T W R | Seien woe 8 Ot Beaen w38
AT ?
(o) 20 em
() 15 em
() 10 em
)y &Hem

72, UF TAAE WE w1 AWE O 0 ¥ 3w
Wﬁﬂﬁrcm%lﬁﬂ%ﬂum
CRETE R
(a) mrt
b} Gme?

:q1'3

[E} T
idy  Ame?

STS-M-TPT

73,

T4.

75.

(23_A)

TH WE-gHE T o oaw () ® e
2:1% F9A A & | 9F & fowE &
%1, 9 9% &+ AEaA & Oy FEIa e E 7

fa) 1:8

fthl 1:4
fe) dq:d

(dy T7:8

Emmﬁﬂﬂlﬂcmmmﬁﬁﬁm
F 8, 6 cm SUR = 3 8 om FEE
wh 3 WE e e @ R 1 38 EeN
dwa ° faffa nfes =1 wiEie o dEee
e & 7

Er:ﬁ‘fcm

Sﬂﬁﬂm

(al
{b}

{e) 10m =71 em

{d)  B0n T cm

wh o4 1 i B o § S Eege e
% HW @F SE-g0d UF & AN F g, A6
W% F A4, 4T & 24 & WEE] 7 | Al "ge =
& aman 5 B 50 m, ®FA 6 FHE 10 m
Wi g i T F9E 16 m ®, A 99 F e
() u9 Hie # R #

la) 3T500=

87500n

b
(b} 3

26600

e} 3

(d) 25000n




76.

77.

STS-M-TPT

Two rectangular sheets of gizes 2n = 4n and
n % bn are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel zides of any sheet. What iz the
maximum possible volume of the circular
cylinder that can be formed this way ?

4 52

Bt

(a)
(b}

{c) 1-25n=*

(d) 625n°

In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 cm, then
what iz CF equal to ?

tal 2-25cm

(b} 3com

(e} 4B em

()

G ecm

In a triangle PQR, X is a point on PR and Y is
a point on QR such that PR =10em,
R![=¢t:m."l”ﬂ=2cm, &R = 5 cm. Which one
of the following is correct ?

(a) XY is parallel to PQ

(b} PQ=32XY
el PX=QY

(d) PQ=3XY

70,

80,

g1.

(24—A)

Conisider the following statements in respect
of three straight lines A, B and C on a plane: |

¥ If A and C are parallel and B and C are
parallel; then A and B are parallel.

2. If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C i=
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct 7

(a}) 1,2and3

(b). 1and2only
ic) 1and3only
(d) 2 and 3 only

The diagonals of a rhombus are of length
20 em and 48 em. What is the length of a side
of the rhombus 7

(al] 13 cm
tb} 26 cm
tch  36cm
idl] 39c¢m

An are of a circle subtends an angle n at the
centre. If the length of the are is 22 cm, then
what is the radius of the eirele 7

{Take ©= E I
T

{a} bHcm

(b} Tem

fe} Hem

(d) 11 ¢m




76.

q7.

ST3-M-TFT

In % dn 3 q x G AR F T FRFETER T
ueres B | ot oft ov < wie yenedt % w
S1E =1 faee U wrEen de-geE awd aE
S WA E | TH W A H HE AT geid

Fo &1 AN OWE HaT T8 Y
{(a) 4n®

by Bn?

(¢} 125n*

(d) &25x"

uwF fiys ABC 4, mifémend AD af BE, G W
wfoesg wdt # | BE F #Wi UF 1@ DF W
R Wi T R e Ry Ac T R AfE
AC =9 cm &, Al CF Tirmeh e 2 7

fa)
{b}

285 ¢m
3 em
{c) . 45em

(d)

6 cm

uww fiys PQR #, PR W u& fag X #it QR
W uh fog Y5 v § BF PR = 10 em,
BX =4 cm YR=2¢m, QR = 5 em £ |

Pefafmr i s o & 2
(a) XY, PQ%F TATH R

by PQ=2XY
(&) PX=0QY
(d) PQ=3XY

79, oM R AT am tEsi A BR CcH

81.

(25-A)

wedf o, Frafefas st w Bew $ifee .
1. Tfe A ¢ uam § 991 B 3R ¢ 99
H.41 A 2 Bawm

9, TR A CTEEE R CW T EA A
M paa ®

3. 3 A3 & ¥= = =@Em, B R C
% &9 F IR TR A A WNB
W # |

I § § A w7

{a} 1,23M 3

(b} AT 13N 2

() e 1373

(d) a2 #AR 3

v T d & w20 em 3R
48 cm B | BUERES F U a0 & A a4
21

{a} 13 ecm
(b} 26cm
(e J6ecm
(d}y 39cm

v g H WY H W R a4 Al wA R
oft am 6 ward 22 em B, 7 g9 6 B

27 (n= ;-'%,ﬂ, whfam)
tal Heom
(bl Tem
el 8 em
id} 11lcm




B2. One-fifth of the area of a triangle ABC ig cut
off by & line DE drawn paralle]l to BC such
that D is on AB and E iz on AC. If
BC = 10 cm, then what is DE equal to ?

[a) al"g CITY

(b 2 \n"ﬁ CIm
(¢} 3J5em
(dl  4+5em

B83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a} 15
(b} 21
fe) 28
(d} Wone of the above

B4. A closed polygon has six zides and one of its
angles is 30" greater than each of the other
five equal angles, What is the value of one of
the equal angles 7
fay 55%

{h) 116
el 150°
dy  195°

STS-M-TPT

85,

(26—A)

Consider the following statements :

1. The point of intersection of the
perpendicular bisectors of the sides of a
triangle may lie outside the triangle.

2, The point of intersection of the
perpendiculars drawn from the vertices
to the opposite sides of a triangle may lie
on two sides.

Which of the above statements is/are correct ?

{a) lonly

{b} 2only

{c) DBothland?2
(d} MNeither 1 nor 2

For the next five (05) items thai follow :

In a University there are 1200 students
studying four different subjects, Mathematics,
Statistics, Physics and Chemistry. 20% of the
total number of students are studying
Mathematics, one-fourth of the total number
of students are studyving Physics, 820 students
are studying Statistics and remaining
students are studying Chemistry. Three-fifth

of the total number of students studying
Chemistry are girls. 150 boys are studying
Mathematics, 60% of students studying
Physics are boys. 250 girls are studying
Statistics.

What is the total number of boys studying
Statistics and Physics 7

ta) 180

(b 240

ey 250

(d) 310



STS-M-TPT

82, UH FAYaE ABC F du%w w1 giwdl fBem,

W DE R @1 TR 8, 9@l DE, BC % g
59 YR Wil g B R D, ABT 3N E, ACW
2 1 9f2 BC = 10 em 2, ©1 DE forus amen 8 7

. U gHAe ¥ g tand #, e | st g s

4wy 7E # | e & 9w witmen wEm
w1 & Tom w4 uii=ie =1 awdl § 7

(a) 15
(by 21

28

T & 2 9

(c)

(d)

. % H@ wgyge i 5 yad § o e
Y, Hg qie SUE R T 30° WS B | WE
wmTAE Al tR RO R AT R 7

{a) bB*

{b) 115°
{ey  150°

(d) 175*

5. F=afefas sl w fam fifm

8.

(27-A)

1. Tt g 1 gonen & T Rwesl =
v farg fngm & wme & waa 2

9. o frgw o, 3o oidl & oogg yeadi
W EE Mo AteE W wfedy fag Im
Pym i aigasima gwar 8 |

I 8 TR T o 24 2

(a) e 1
(b) AT 2
13 2 A
(dy IarLTdE2

{cl

ST AT FIE GIE (05) TFIF & o -

s favatamem 9 1200 Tendi &, o 9w e
famart — wiftr, wifeshi, difos fagm =it e
A w1 e W @ € | et 1
TEET W 209 TW W WEEET e T 8,
il & Fw den W uwmdEE difas
e w s & @ R, 320 Saeff wifead
w1 e o T8 § i I Rl wae e
w1 AT TR 8 | THEE e W s
w1 Al faenfiE i Ha den W e w gl
um AEET € 1 150 32 nfin = wemT W=
® B | dfiw fawm w1 s w0 9@
feenfeiai =1 o 2w w2 § 1 250 wefead
HifEaeh] T areas & T 2

"ifegh 3 vifos fagm =1 999 =0 99
T whi el WEAT F491 E Y

{a) 180

(b)
(el
¥}

2410
260
410



87.

The number of girls studying Statistics is
what percent (approximatel of the total
number of students studying Chemistry ?
{a) 5848
(b} 786
(e) TBY
(d) 806
88, In which subjects is the difference between the
number of boys and girls equal ?
{a) Mathematics and Chemistry
(b} Statistics and Chemistry
{e) Mathematics and Physics
(d) Mathematics and Statistics
89. What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?
(a) 20
(b} 30
ey 60
(d) 80
80. What is the ratio of the total number of boys to
the total number of girls 7
(a} B7:83
(b) 17:26
ey 27:19
(d} 189:179
STS-M-TPT

1.

93.

(28-A)

Frequency density of a class iz computed by
the ratio

ta} Class frequency to the class width

(b} Class frequency to total frequency

tc) Class frequency to total number of

classas

(d) Cumulative frequency up to that class to

total frequency

A small company pays each of its § category
*C' workers ¥ 20,000, each of its 3 catepory ‘B’
workers ¥ 25,000 and a category 'A’ worker
T 65,000. The number of workers earning less
than the mean salary is

(a) 8
(b) &
ch 4
d)y 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed 7
{a} 44 km/r
(b) 45 km/hr
{e} 50 km/hr

(d) 2:5 km/hr




B7.

88.

0.
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HIfEgeh! 1 30T i JTelt Tl o e,
W fagm = were w9 w5 ffd
=h! T =1 Ty Teed S 2 7

(a) 688

(b
{e) 78T
(d}  BO-6

Td'6

T fawei § w1l ol it o 9em e
T AT T B 7

(a) i 3 TEmA famm
(b) wifEht ait W fagm
(¢) i e sitfeen famm
(d) wiire af wifeh

TR W ATSIEA 4 9T wES| &) "em Wi
iifgs fam &1 somm w09 gl asfe 6
e FHE T AR TR

tal 20

(bl 30

(e} B0

(d)y &0

e = TE T & wEfeal i Fe e
T TR

(a) 67:83

thy 17:26

(€} 27:19

(d) 189:179

91,

B2,

.

(29-A)

et =t =1 amEmm W B osaum gm
uitestera fam sman & 2

(a) a0 EEE & A wiEE A s
(b) = STETA 1 T FAERAT & A
(e} =1 SERAT 1 T 6 T TN B AT

idy 3 W T R AEdl AEERE w1 OHee
AT § 3T

UH B SO 30 O 9T % el 5 et
H T 20,000, ‘B 9 % UE 3 st #ir
T 95000, IR A T F us wdEl W
T 65,000 F WIAH T 8 | AT F9 B w5
HHH e St &1 wen o

(a) B

(b} &

el 4

dr 3

TE AEH! 4 km/=eT H = ¥ 12 km 1 0
Al ® 3 5 5 kA & =19 ® 10 km
T AT £ | 3R i sTe W ot 7

(a) 44 km/=0
(b) 45 km/SeT
(c) 50 km/HeT

(d) 25 km/H2T
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The pie diagrams on the monthly expenditure
of two families A and B are drawn with radii
of two circles taken in the ratio 16:9 to
compare their expenditures.

Which one of the following is the appropriate
data used for the above mentioned
diagrams 7

{a)
(b)
(c)
()

Pl

F 16,000 and T 9,000
T 8,000 and T 4,500
= 25,600 and T 8,100
T 4,000 and T 3,000

Consider the following statements :

Statement I : The walue of a random
variable having the highest
frequency iz mode,

Statement I1:  Mode is unique.

Which one of the following is correct in respect
of the above statements 7

Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement 1

(a)

{b) Both Statement T and Statement II are
true but Statement I iz not the correct

explanation of Statement I

Statement T is true but Statement [ is
false

()

id) Statement I is false but Statement 11 is

true

Which one of the following is net correct ?

The proportion of wvarious items in a pie
diagram is proportional to the

{a) Areas of slices
(b}
{c)
{d)

Angles of elices
Lengths of the curved arcs of the slices

Perimeters of the slices

( 30

7.

100.

~A)

The geometric mean of x and v is 6 and the
geometric mean of x, ¥ and z is alsp. 6. Then

the value of 2 is ¥
(a) 12

b) /B

e} 6

@ 6

The total number of live births in a specific
locality during different months of a specific
yoar was obtained from the office of the Birth
Registrar. This set of data may be called

{a} Primarydata
(b} Secondary data
(e} Recorded data

(dy Countable data

The heights (in em) of 5 students are 150, 165,
161, 144 and 155. What are the wvalues of
mean and median (in em) respectively 7

{a) 165 and 161
(b} 1565 and 1565
(e} 160 and 155
(d} 155 and 161

The average height of 22 students of a class is
140 em and the average height of 28 students
of another class is 152 em. What is the
average height of stodents of both the
classes 7

{a} 144-32 cm
(b} 145-52 cm
{c} 146-72em
(d) 14792 cm
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&l 9ftEml, A 3 B & mits @4 & gaia df=
™ iR Ik @ H g B % T 2 e
#1 EsmaAl w1 AT 16 : 9 T T |

g afifa FaiEl % fm ww e moad
s, e g o eha & o

(a) ¥ 16,000 3T T 9,000

(b} ¥ 8,000 3T T 4,500

(¢) ¥ 25600 37 ¥ 8,100

(d)  F 4,000 #H T 3,000

FreferfEs wuat w o Fife

Fo7 ] ;. Hiuway SRERa 97 TReF =
HH #E (HiE) wEen |

Y7 11 - TEE (H1e) Afg (=) g g |

I Al & g fatafen d§ @ s
W7

(a) FoH I 3R ww9 O 241 Td §, afn
A 11, FoF [ &1 78 T

(b) HE 1 i w0 A md E, g
Fa 1, He 1 1 el e TH &

(c) YA | HE B, W FY 117 R
(d) wHEA [TEE B, 9w [HE R

Frafafign § @ SR odt 737 8 2

v gona d ffim wE w oamEm fews
FHTIT FIE 8 7

(a) 379 % &Rl %

(b) =79 & Wil &
(c) 99T % = =IT9T =i FEETEAl &
id) T =& wfmi &

87.

+ {a)

99.

104,

(31-A)

x 3 v &1 U WIET 6 B T x, y 3 2 H
TR ol ot 6§ | 99 2 % O W= g 7

12

V6
(c) 6
¥

{b)

id)

0 TR % walem @, v e 9 %
fafim wdl % e o fafire e o Sifm
T (WEEl) F e T W | I
(il & = TH=T F = FE S g1 & 2
(a) STgHe (ET) 9

(b) iy 39T

(¢) =TaTElE F9M

(d) TS 9T

5 fernfeiat Y F=mal (em #) 150, 165, 161,
144 3 155 § | T uew aw wmferm
(+FifEaT) % W (om #) e T E 9

(a) 165 31 161
()
(c)
(d)

155 31T 156
160 3 1556
155 #1161

uF Fan % 22 et & e S50 140 em
B 9t = W & 28 Tamrfdet dr sfm
TS 152 cm & | ST wEnad] & et
sfterm ek Fm @ 2

(a)
(b}
()
(d)

144-32 cm
145-52 em
14672 em
147-92 em




SPACE FOR ROUGH WORK
el hH & Tere ST
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SPACE FOR ROUGH WORK
F= T & foru s
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SPACE FOR ROUGH WORK
&=l & & fore T
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SPACE FOR ROUGH WORK
&= & % o e
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